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Social Control and Change

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.
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Section - A / G-
(Long answer type Questions) /( St 3WU aTel U9 )

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners
are required to answer any two (02) questions
only. (2x15=30)

e . WS ‘F W AN (04) < 3T amer e few
T U & [ U ien Taifa & | forenfy=
I T | haet o U9l o ST e © |

1. Explain in detail the concept of Social Control.

HrTfSTeh T St STaEmon i fowaR qEe s

HIT |

2. What is family ? Explain its important
characteristics.

TIER 31 €2 3t Hewery! fewTsatsti w1 auid sHife|

3. Define Industrialization and show its impact on
Indian Society.

ST Sl TR SIT T8 9RAE T9S0 W)
THHT e <Y |

4, Define Modernization. How modernization is
different from wester ternization ?



SMYFIHTT 1 TRATNG HIFTY | STfrehienom
fore R ufveefieRe o fo=1 2 2

Section - B / @g-9

(Short answer type Questions) ( T 3T AT U9 )

Note : Section 'B' contains eight (08) short-answer-type

questions of five (05) marks each. Learners are
required to answer any four (04) questions

only. (4x5=20)
T : GT @' ¥ S (08) Y I arel wyd faw T
W W o e uter sfe Fraifia & | foranfudar
W T A HAIT AL YA & ST # |
Briefly discuss the followings :
forer =t WA ¥ wrert i -
1. Characteristics of Folkways.
SRifeEt i faean |
2. Religion.
Y
3. Difference between social evolution and Progress.

TSR SafaeRrE SR Wl S |
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4. Types of Social Control.

wrATTSeR = & YRR

5. Urbanization.
TR

6. Secularization.
g Fredefiemo

7. Globalization.
T iR

8. Types of family.
TER & TR

Section - C / @&-9

(Objective type Questions) / ( TS TIT )

Note : Section 'C' contains ten (10) objective-type
questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

e : @E T W T (10) IS yve feu Tm ¥,
T U9 & AT Uk 3 fauifa & 1 3@ @



Write True/False against the following :

1.

Evolution is a change from complexity to simplicity.

Iforhre Sifeetdl @ EReTd i SR gH are e
Al

Modernization is a wider process than

westernization.

YfTRTeRI 1 ishan aftariets @ siften samaen
g

Theory of Economic determinism related to social

changes is given by Karl Marx.

qfees aftadd & enfefe fofgar fag =+
e J feam ©

India is a secular country.
IR Th g9 FRue U B |

Ram Krishna Mission was founded by Swami Ram

Krishna.

TRt THYM SRt TITq1 &l qHeRST + i off |
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Choose the correct alternative :
wEt fasmed g

6. Who is the author of 'Social Change in Modern
India'.
(a) D. P Mukherjee (b) M.N. Srinivas
(¢) Yogendra Singh (d) S.C. Dube
‘engfier WA W WIS diedd’ Je % ol
d
(a1) SLd. et (¥) . . sifEw
() == foe (2) wadl.

7. Characteristic of urbanism is :

(a) Transiency (b) Superficiality

(¢) Anonymity (d) All of the above

TR Wt et € -
(21) ereenfaa CIREERIEE
(9) A (%) ST g+t
8. First stage of evolution of economic life is :

(a) Hunting and food gathering stage



10.

(b)  Agricultural stage

(c) Pastoral stage

(d) Technological stage

i Siad & 3IE[ahE A JoH WX
(31) TR *E @R HISH gl wE H ®R
(F) HfF =R

(9) OO &'

(2) HreEnfieh ®X

Who is the author of "Hand book of Sociology" :
(a) Durkeim (b) Ogburn & Nimkoff
(c) Maciver (d) Parsons

“3UT o TR WIS qHe % oiEeh i
g2

(31) i () e qen e
(W) HhER (%) IREH
Who is the author of "Sociology of Revolution.
(a) Sorokin (b) Merton
(c) Coser (d) Murray
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